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Check which equations for volume v and area A are o\\mens\onallﬁ consistent
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so the different forms of energy we wil see later al have the same dimension
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Estimate the mass of & virus, Lets take (-4, it has close to spherical shape a) Tf AT = 3BxTF i=then A -3 ?

n hHPs://www.ncb'\.nlm.n\h.Sov/(amc/arﬂdes/’mCMQ%W we see that the diameter of the
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we estimate the virus to have c\ens\‘rtj close to water
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So, we estimate the mass of a - to be 0.5 {cy hai€ a ?emfogram.

G N, © al have similar mass, and H is in water and in the virus,

For £un there is & publication estimating the total mass of al C-11 viruses c\uv'\nﬁ the pandemic
hﬁps//www.(_mas.orﬂ/do\/m.4o43/Pnas.aoaqa45Ma

Remember that €for two vectors G' and H paralel or antiparallel means
that S —

GxH =0, HxG =0
So, we selkect D paralel to then
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what about  A.F = &-F (s then I-® <
Now we select D that is perpendicular to ¥ —> D F =0
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> F(A-B) =0, i§ T*0 +hen A=R8




